T EL o BE & o [S] == A
47 Sy =2 =2 S5 IHl A =

y Jr‘ 5 v |' = L y =
EY & ol b bt g @ &dg o @ -

RB24AK B(HB(EGBGEHF D I—7 BRDbY, £3E
Bl a2m27% DEMDELHEAKPGTRBEINEL,

R, I—RE, AARRDE, ZHNNZRIEBR DY), Z DR\
BHATbHY), BBEFHOZRTLER, BREENARTLA,
HETOEF =7 7%R LLELEX,
wEL B IAEB
WES ZFF SEB AT

SEEFEIEDHIEMN, £H, 7A6H (A) . BKI—XATHERXDL LHEShFELE,

ELBESADERYE - FABFSALRGCERKRL-. RRIFLUTOREY TY,

BF

K &4 |SCORE[GRssO  H. C| NET BlE REH. C
B Bl =kElss+s59 117 |—11| 106 —6
HERKAS Z2Z|50+50, 100 +11| 111 +14
34 |#)I WH=|e1+e62/ 123 —12| 111 —11
441 (L SEA|so+54 104 +8 112 +8
50 | T #kls47+58 105| +8 113 +8
64 |{AlE&  Elso+4a9 99 |+15| 114 BG +15
740 88K M¥E|ls2+52/104|+11] 115 +1 1
8fhi |&E #Fkles+s8 126|—10| 116 —10
ofif |#4K #ekls1+51102|+15]| 117 +15
104 |[#E 2ifElso+s2l102|+15] 117 +15
1 1 43% | AF] k|s8+64/ 122 | —5 117 -5
1245 | #Els7+56/ 113 +6 119 +6
1 34 | KiE #ls6+49105|+15| 120 +15
1441 [EfE =F|s4+55109|+11] 120 +1 1
154 |[FEH ZHk|se6+57/ 113 +7 120 +7
164I|i5)K E—|s52+54 106 |+16]| 122 +16
1746 |8BE %leo+57 117 | +6 123 +6
184I|=4 IE—|s9+58 117 +7 124 +7
19 |luAx EHle1+56/117]| +8 125 +7
20188 ANkles+e1l 124 +1 125 BB -2
2 14i|{k#%E PBAFH|e4+68/ 132| —4 128 —9




ZF

K £ |[sCOREGRSsSO H. C| NET Bl | xEH. C
B |28 ®F|les+e65133|—17| 116 —12
B [EIE xF|ss+60/118| +6 124 +9
3 [FER BF[s4+53107|+18] 125 BG +18
Afr Ly #F|so+s55/114[+12] 126 +11
5 [IZK F|e61+66/ 160 0 127 BB —3
64 [#ft E=F|sa+59/113[|+18| 131 +13

TROLBYESE/A—ITNIFIREMELETOT. RRSMOEMEELL,
<Gt > A-B-C:Da—R 36F—

a8 <H IE>9H14(7)
<% Fr>5EHrEEa—A

4 F LR AR TRALT & of-—2

<zhk> 600

\ H..,.-n'.".\-v'/

KEBECASALESERER (7H238E5D2(1a—R6ADRE)
-HAREEK BAKE— FTEAX OE B -AAEZ -WIGFH
MKCALEEBEREICSMOBESATER>TTELY,
EEAR - EH27FE8H24H(A)

BMEISAT T ZRXDAIL/S—H52F ]



